1086 (K10a84)

2 . . O
7 /-6 \ Linearized knot diagam

Solving Sequence

7,9?10?6?173,5?2?8?4%>01,03,C7
A knot diagranﬂ 9 6 10 5 2 8

Ideals for irreducible component#ﬂ)f Xpar
I = <—4039601920u4‘1 + 442991781120u*" + - - - 4+ 60302773206589b + 12060836,

317833596u*! — 2186109887610 + - - - + 60302773206589a + 110555084616603,
u'? —utt o = 3u 1)

* 1 irreducible components of dim¢ = 0, with total 42 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L.
I = (—4.04 X 10%u*' +4.43 x 101 4*% 4. .- 4 6.03 X 10'3b 4 1.21 x 107, 3.18 X
103u*t —2.19x 101%40 4. . - +6.03 X 10'3a+1.11 X 10'%, u*2 —u*' +...—3u+1)

(v
o
(v
()

o= ()
(
(
(
(

a7 =
ag =
aip =
ag —

—5.27063 x 10~%u*! 4 0.000362522u*° 4 - - - + 5.66153u — 1.83333
0.0000669887u*! — 0.00734613u*" + - - - 4 3.16667u — 2.00005 x 10~7

ud + 2u>

az =
as = \ w4 u
6.83829 x 10~ "u*t — 0.0000369667u*® + - - - + 5.57750u — 1.75000 )

ag =

0.000767581u*! — 0.0917794u%0 + - -+ + 3.25001u — 3.08389 x 1076

0.00250009u*" — 0.00247925u° - - - - + 5.08221u — 0.722479
0.0000486247u*! — 0.00588236u" + - - - + 3.33172u — 0.00583354

—1.19089 x 10~ %u*! 4+ 0.0000798978u%° + - .- + 6.41681u — 1.01667
—0.000140118u*" + 0.0168866140 4 - - - + 3.18333u + 5.76776 x 10~7

ag —

ayq =

(ii) Obstruction class = —1

(iii) Cusp Shapes
_ 101762525603096 , 41 _ 143500206823500,,40 4 ... _ 332549985427516, | 276206801861070
= 760302773206589 60302773206589 60302773206589 60302773206589




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 Pt e Tu+1
C2 w2 — M 4~ 1
¢4 w2 —3ut 4+ —u 1
Cs u +utt 4 3Tu+ 17
Cg,C9, C10 w2 M+ —3u+1
cr ut? —uM 4 —10u+ 4
Cs u? +utt o 2lu 41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3 y?2 =27yt 4 Ty + 1
Ca g2 3yt Ty
C4 g2 Tyt 3yl
€5 y*? — Tyt 4+ — 1539y + 289
6, C9, C10 y? 3Tyt =3y 41
cr y*? +41y" + - 4+ 308y + 16
Cs y*? 433y - 24Ty + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

= 0.478429 + 0.8306611
= —1.016150 — 0.0871381
—0.936087 — 0.9075221

2.62044 + 5.777961

0.70723 — 3.771941

0.478429 — 0.8306611
—1.016150 + 0.0871381
—0.936087 + 0.9075221

2.62044 — 5.777961

0.70723 + 3.771941

0.185781 + 1.0257701
0.077705 + 0.5734521
0.483603 + 0.9637681

—0.411802 4 1.0154201

—3.47498 — 1.212961

0.185781 — 1.0257701
0.077705 — 0.5734521
0.483603 — 0.9637681

—0.411802 — 1.0154201

—3.47498 4- 1.212961

—0.850313
0.302339
= —0.0653539

—1.60575

—10.6730

—0.750438 + 0.3968071
—0.358825 + 1.086560.1
0.176374 + 0.8223981

—0.84767 + 2.242091

—7.43868 — 8.382611

= —0.750438 — 0.3968071
—0.358825 — 1.0865601
0.176374 — 0.8223981

—0.84767 — 2.242091

—7.43868 +- 8.382611

0.798010 + 0.2775111
0.55497 — 2.076371
1.12925 — 1.118291

0.84307 — 10.287501

—1.70761 4 7.714661

0.798010 — 0.2775111
0.55497 + 2.076371
1.12925 + 1.118291

0.84307 + 10.287501

—1.70761 — 7.714661

= —0.439352 + 1.0817201
= —0.241896 — 0.3035921
= —0.301740 — 0.5072761

>~ Q@ S8l Q& €| @ 8|l & 8> & €| 2 €|l & €| & 8| & 8|l & &
|

1.66550 + 4.601681

—2.00000 — 9.106581




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

uw = —0.439352 — 1.0817201
a = —0.241896 + 0.3035921
b= —0.301740 + 0.5072761

1.66550 — 4.601681

—2.00000 + 9.106581

uw= 0.711781 4 0.1862711
a= 0.15739 + 1.818711
b= —0.778762 + 0.8498501

—2.84345 — 4.539191

—5.58452 + 6.452371

w= 0.711781 — 0.1862711
a= 0.15739 — 1.818711
b= —0.778762 — 0.8498501

—2.84345 + 4.539191

—5.58452 — 6.452371

u = —0.716527
a = —0.397959
b= —0.516879

—1.70188

—6.91450

u = —0.160940 + 1.2890601
a= 1.70867 — 0.626061
b= —0.56110 — 1.547701

4.17623 + 2.063721

u = —0.160940 — 1.2890601
a= 1.70867 + 0.62606.1
b= —0.56110 + 1.547701

4.17623 — 2.063721

u= 0.088609 + 1.3239101
a= 1.12700 + 0.867781
b= —-0.377923 — 0.1761361

4.85107 + 1.201481

u= 0.088609 — 1.3239101
a= 1.12700 — 0.867781
b= —-0.377923 + 0.1761361

4.85107 — 1.201481

u = —0.279867 + 1.3172801
a = —0.218311 + 0.6928611
b= 0.843176 + 0.0355641

2.51211 4 3.574671

u = —0.279867 — 1.3172801
a = —0.218311 — 0.6928611
b= 0.843176 — 0.0355641

2.51211 — 3.574671




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.215944 + 1.3361701
= —2.06558 + 0.800881
—0.18914 + 3.233511

4.98903 + 3.199001

—0.215944 — 1.3361701
—2.06558 — 0.800881
—0.18914 — 3.233511

4.98903 — 3.199001

0.173241 + 1.3684201
0.844181 — 0.0779981
—1.145210 — 0.2706491

7.73393 — 1.798731

0.173241 — 1.3684201
0.844181 + 0.0779981
—1.145210 4 0.2706491

7.73393 + 1.798731

0.228890 + 1.3758101
—0.37491 — 1.622081
0.514507 — 0.5253721

6.95368 — 5.701851

0.228890 — 1.3758107
—0.37491 + 1.622081
0.514507 + 0.5253721

6.95368 + 5.701851

0.563419 + 0.2184081
—0.72689 + 2.255921
—0.451451 4 0.2104681

1.89435 — 2.763421

1.45970 + 7.655681

0.563419 — 0.2184081
—0.72689 — 2.255921
—0.451451 — 0.2104681

1.89435 + 2.763421

1.45970 — 7.655681

0.286750 + 1.3703601

= —1.21599 — 1.047771 2.08911 — 8.160871 0
= 0.946396 — 0.7601551

0.286750 — 1.3703601
= —1.21599 + 1.047771 2.08911 + 8.160871 0

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

0.946396 + 0.7601551




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.553872 + 0.0810161
= —0.34407 — 5.145241
—0.19417 — 2.588411

0.484443 + 0.3876191

2.4374 4-16.93571

—0.553872 — 0.0810167
= —0.34407 4 5.145241
= —0.19417 + 2.588411

U
a
b
U
a
b

0.484443 — 0.3876191

2.4374 — 16.93571

u= 0.32193 + 1.421271

a= 0.86794 + 1.400761 6.2544 — 14.34131 0
b= —1.30679 + 1.179311
uw=0.32193 —1.42127]
a= 0.86794 — 1.400761 6.2544 + 14.34131 0

b= —-1.30679 — 1.179311

—0.180411 + 0.5039781
—0.786744 + 0.4126701
0.291024 + 0.7258661

—0.258833 4 1.3424301

—2.96321 — 4.267061

—0.180411 — 0.5039781
—0.786744 — 0.4126701
0.291024 — 0.725866.1

—0.258833 — 1.3424301

—2.96321 + 4.267061

—0.31335 + 1.457441
0.573180 — 0.6727101
—0.502148 — 0.8516451

5.06478 4 6.189241

—0.31335 — 1.457441
0.573180 + 0.6727101
—0.502148 4- 0.8516451

5.06478 — 6.189241

0.02848 + 1.508351
—0.206650 — 0.3217751
1.154670 + 0.4258007

10.43310 + 4.600331

0.02848 — 1.508351
—0.206650 + 0.3217751
1.154670 — 0.4258001

>~ Q@ €|l @ €|l & €| Q& 8| & 8| &
Il

10.43310 — 4.600331




Solutions to I} Vv—1(vol +/—1CS) Cusp shape

= 0.312265+ 0.2724121

—0.307218 4 0.7232531 2.66792 4 0.257131 4.13768 + 2.681861
0.996632 — 0.0290941

0.312265 — 0.2724121

= —0.307218 — 0.7232531 2.66792 — 0.257131 | 4.13768 — 2.681861

U
a
b
U
a
b= 10.996632 + 0.0290941




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢3 u ettt o+ Tu
o A R |
4 I |
€5 u? ot 4 3Tu 17
C6, C9, C10 u'? —uM o~ 3u 41
7 u'? —ut 4~ 10u + 4
c8 ut? +utt o 2lu 1
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ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C3 y? =27yt . =Ty + 1
o v 3yt Ty 1
4 2 Tyt 3y 41
€5 y*? — Tyt + - — 1539y + 289
Ce, C9, C10 y 2 3yt o =3y 1
cr y*? + 41y + -+ 308y + 16
Cs Y 433y o - 24Ty + 1
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